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1. Of the three major categories of consumption,

(A) services; is sensitive to income levels

(B) nondurables; is sensitive to income levels

(C) durables; can be postponed when incomes decline
(D) durables; they are necessities

2. A fixed or rigid price level implies that in the short-run,
(A) income is fixed.

(B) real GDP is greater than nominal GDP.

(C) nominal GDP is less than real GDP.

(D) real GDP equals nominal GDP.,

is the most volatile because their purchase

3. Persistent government budget deficit result in taxes and a stock of capital in the future.

(A) higher, smaller
(B) lower, smaller
(C) higher, larger
(D) lower, larger

4. The aggregate demand curve may be derived from the IS-LM analysis by shifting

(A) the IS curve as the price changes,

(B) the real money supply and thus LM curve for each new price level.

(C) both the LM and IS curves since the real money supply and real expenditures change when P changes.

(D) the LM rightward when P increases to define Y.

5. The slope of the AD curve is important because it explains the

(A) responsiveness of consumers to changes in the price level.

(B) impact on Y and P for a given change in the SAS curve.

(C) responsiveness of money demand to price changes.

(D) responsiveness of business firms to price changes.




6. Suppose that meﬁgefs of Congress and the President believe that the natural rate of unemployment is 2%
but in fact it is 6%, and employing fiscal policy they increase AD each time unemployment rises above 2%.
The underestimation of the natural rate combined with adaptive expectations will ‘

(A) lead to a continuous inflation by a shift in only AD.
(B) lead to a continuous inflation by a shift in only SAS.
(C) lead to continuous inflation by shifts in both AD and SAS,
(D) 1=ad to continuous increases in output and unemployment.

7. If the market rate of interest is 13%, the growth of nomina; GDP 9%, and the growth of real GDP 2%, then
(A) the rate of inflation is 11% .
(B) the rate of inflation is 4% .
(C) the rate of inflation cannot be determined.
(D) None of the above.

8. The one determinant of the growth of capital per person that can be affected by policy is the
(A) depreciation rate.
(B) saving rate.
(C) money supply growth.
(D) rate of technological change.

9. A decrease in deficit spending or an increase in the government surplus will lead to
(A) accelerated economic growth if the money supply is increased to stabilize the output ratio.
(B) accelerated economic growth if the money supply is decreased to stabilize the output ratio.
(C) arecession if the money supply is increased to stabilize the output ratio.
(D) a recession if the money supply grows at a fixed rate,

10. Tobin's generalized portfolio approach to the demand for money is based on the aésump'tion that
(A) money is needed for transactions.
(B) all interest_-bearing assets are risky.
(C) the levels of risk and return vary among assets.
(D) variations in wealth have litt{e effect on asset demands.




